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[= 614,117]
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[A] 187,162]
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301 LutEdH
[= 187,162]
[A] 187,162]
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OF 7w 1,871,624,0009) = 1,871,624
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301 LHtEdH [= 3,500]
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[A] 115,560]
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AT FFEAALY
[= 1,701]
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[= 175,100]
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(= 21,8871
[Al 21,8871
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301 LwREH A
(= 21,8871
[~ 21,8871
01 A A 3&= 218,874 203,750 15,124
ONFEX 218,874,000 = 218,874
[= 175,100]
[= 21,8871
[A 21,8871
121,272 0 121,272
[= 83,610]
2] qubE3g HE9-2 ALY
(= 17,831]
[A 19,831]
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03 Al A FJH-F210] 1,000 0 1,000
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119,272 0 119,272
[= 83,610]
307 H13ke]
(= 17,831]
[A] 17,831]
05 W9 E= 119,272 0 119,272
OAgEEE vh-5-A A4 119,272,0009 = 119,272
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[A] 17,831]
A Fzm A 6,000 6,000 0
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[= 24,343]
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202 o H] 1,000 0 1,000
01 el 1,000 0 1,000
OA &8 J T oIn| 1,000,0009) = 1,000
203 3% 1,000 0 1,000
03 Al AFQA QT2 1,000 0 1,000
OAg g4 5753 1,000,000¢) = 1,000
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[= 22,222]
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(= 2,778]
[A] 2,778]
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[= 2,778]
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[A] 66,8401
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[A] 66,8401
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(= 4,060]
[A] 1,740]
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(= 4,060]
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308 Ak A F o]
(= 1,495,135]
[~ 640,772]
05 AAGFANFG= 10,679,536 525,000 10,154,536
OomgadTdA a
10,679,536,0009) = 10,679,536
(= 8,543,629]
(= 1,495,135]
[A] 640,772]
9,000 9,000 0
[= 7,200]
JuHoAtd BN A
(= 1,260]
[A] 540]
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[= 3,600]
201 L ukgn]
[= 630]
[A] 270]
01 AHF#2H| 4,500 4,500
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[= 3,600]
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[A] 2701
4,500 4,500 0
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202 o] ]
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01 =ujedu] 4,500 4,500
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(= 16,660]
[A] 7,140]
119,000 90,000 29,000
[= 95,200]
307 HzZkol A
(= 16,660]
[A] 7,140]
01 a2 sH 119,000 90,000 29,000
OYagoeaa Edids AY
119,000,0009 = 119,000
[= 95,200]
(= 16,6601
(A 7,140]
2,000 2,000 0
[= 1,600]
sEd5aEA dES
(= 280]
[A] 120]
2,000 2,000 0
[= 1,600]
307 ®17ko]l A
(= 280]
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01 92 3aH 2,000 2,000
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(= 2801
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HA -G L (FA) - AFAE Al of Ak N H] ul 57
OZ2a%8 S$X K = 500
FATNAZ AT Y 147,000 147,000 0
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01 W7HgAF 147,000 147,000
Ouzt-gA= 147,000,0009 = 147,000
1,407,598 1,760,023 A352,425
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= 5% 23
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268,575]
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A A} B &= 17,5001
131,600]
P PR R BRI DARCRCS 114,100 65,600 48,500
201 YwkE-dn) 20,700 1,000 19,700
01 A3 19,700 0 19,700
OFUASA LA 2 oh A L& 1 24 2}
12,000,000¢ = 12,000
OFFL(FUA2) A J S
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O A& A o A A4
= 4,900
OF A EA A E 2| AL S8
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03 AL 1,000 1,000
OAE HA YPALEH EFTY = 1,000
202 1] 4,000 7,500 A3,500
01 =ruen] 4,000 7,500 A3,500
OFTN AR AJFFF o] = 2,000
OA G g 2] A =3 oI v = 2,000
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ONARZTHFA 1
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09 TolEFadRAT 2,800 0 2,800
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-2 A 5,000 %278 %280 = 2,800
12 7|EfRAd= 30,000 0 30,000
OALES A A= B
15,0009 #1578 #83] ¥ 129 = 21,600
OALS 5 AU st FEF4 wAn|
20,0009 %35 129 = 8,400
303 L= 1,000 0 1,000
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OFIALA LM 2 -5 AT 1,000
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307 F17kold 28,600 29,100 2500
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Oz Atdle] YARA 20,000,000 20,000
O3 afs #d 1,500,0009) = 1,500
OA3] 2] A %1 3] 5,000,000¢] 5,000
OA A3 /A oA A3
30,0009 357 *23] 2,100
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17,500]
35,000 0 35,000
307 Wizkol 17,5001
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[A] 46,295]
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[= 370,360]
(= 46,295]
[A] 46,2951
628,868 649,300 A20,432
A &9 (= 440,207]
(= 188,661]
628,868 649,300 A20,432
307 F13kol A [= 440,207]
[= 188,661]
02 WA NHZ 628,868 649,300 ~20,432
OF-FAAA 94 628,868,000%) = 628,868
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[A] 76,0001
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[A] 55,000]
78,000 15,000 63,000
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[A] 55,0001
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B 400]
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206 A =.H]
3,600]
12,400]
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OFFLZALY AAH] 20,000,0009 = 20,000
5 4,000]
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12,400]
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301 LukHAF
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(= 13,162]
307 WZko] A
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23,400 16,547 6,853
[= 18,720]
101 1714
[= 3,276]
[A] 1,404]
09 F7|AFEEA R R 23,400 0 23,400
O s g elAl 1] 23,400,0009) = 23,400
[= 18,7201
(= 3,276]
[A] 1,404]
7| 2N (FR A LA D) 47,120 74,140 A27,020
7 REAR(FRREA L) 47,120 74,140 A27,020
201 G Wk H] 20,600 39,820 A19,220
01 AHFE-#an| 20,000 39,820 A19,820
OFA 24 AT 20,000,0009 = 20,000
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